Id 1

Question | Which of these is not a communication skill.

A Laughing

B Swimming

C Asking question

D Chatting to people

Answer B

Id 2

Question | During the presentation is the stage where you tell the audience, the aim of your
presentation.

A Background

B Introduction

C Conclusion

D Question session

Answer B

Id 3

Question |OHP means

A On Head Projector

B On Hand Projection

C Over Head Projector

D Over Head Projection

Answer C

Id 4

Question | Which of these is not an information based system?

A MIS

B DSS

C SIS

D SDS

Answer D




Id 5

Question | Which of these element is not involved in the process of communication?

A Pipe

B Sender
C Message
D Channel

Answer A

Id 6

Question | Effective communication pre- supposes
A Non- alignment

B Domination

C Passivity

D Understanding

Answer D

Id 7

Question | Classroom communication can be described as
A Exploration

B Institutionalization

C Unsignified

D Discourse

Answer B

Id 8

Question |Read the following information to answer the given question.
* AB C D E F are sitting in a row.

* E and F are in the center, A and B are at the ends.

* C is sitting on the left of A.

who is sitting three places on the right of D?

A B
B C
C A
D D
Answer C




Id

9

Question | Complete the given series by finding the missing term
28,33,31,7,34,39

A 34

B 35

C 36

D 37

Answer C

Id 10

Question | How many times do the hands of a clock coincide in 24 hours?

A 22

B 24

C 26

D 28

Answer |A

Id 11

Question | What percent of 1 hour is 15 minutes?

A 50%

B 15%

C 75%

D 25%

Answer D

Id 12

Question | Two numbers are in the ratio 7 :9. If the sum of the numbers is 112, then the larger
number is:

A 49

B 72

C 63

D 42

Answer A
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Question | Average age of 5 people is 42 years. Another group has 8 people who have average age of
81 years. When both groups are mixed what is average age of all people?

A 64 year

B 66 years

C 61.5 years

D 70 years

Answer B

Id 14

Question |Rahim and Aamir started a hotel. Rahim invested Rs. 6000 and Aamir invested Rs. 5000.
Rahim's investment was for 4 months and Aamir's was for 8 months. If total profit was
Rs. 6000, how much more profit than Rahim did Aamir get?

A Rs. 1500

B Rs. 4500

C Rs. 3000

D Rs. 1800

Answer A

Id 15

Question | Imran invested Rs. 77500 in ICICI bank. In two years how much compound interest will
he get, if the first year rate of interest was 10% and second year had 2% more than first
year?

A Rs. 17850

B Rs. 17980

C Rs. 18963

D Rs. 16880

Answer B

Id 16

Question | A sells a car to B at 10% loss. If B sells it for Rs. 54000 and gains 20%, the cost price of
the car for A was

A Rs. 25000

B Rs. 50000

C Rs. 37500

D Rs. 60000

Answer B




Id 17

Question | How many minimum number of square tiles are needed to cover a rectangular floor of
dimension 5.25m and 5.10m completely?

A 1190

B 1020

C 1080

D 1230

Answer A

Id 18

Question | A man complete a journey in 10 hours. He travels first half of the journey at the rate of 21
km/ hr and second half at the rate of 24 km/hr. Find the total journey in km.

A 220km

B 224 km

C 230 km

D 234 km

Answer B

Id 19

Question | Arithmetic mean between a and 10 is 30, value of 'a' should be

A 45

B 60

C 50

D 53

Answer C

Id 20

Question | A is two years older than B who is twice as old C. if the total of ages of A, B and C be 27,
then how old is B?

A 7

B 8

C 9

D 10

Answer D




21

Question | An accurate clock shows 8 o'clock in the morning. Through how many degrees will the
hour hand rotate when the clock shows 2 o'clock in the afternoon?

A 144°

B 150°

C 168°

D 180°

Answer D

Id 22

Question | Today is Monday. After 61 days it will be

A Wednesday

B Saturday

C Tuesday

D Thursday

Answer B

Id 23

Question | A person crosses a 600 m long street in 5 minutes. What is his speed in km hour?

A 3.6

B 7.2

C 8.4

D 10

Answer B

Id 24

Question | Which of the following retains the information it's storing when the power to the system
is turned off?

A CPU

B ROM

C RAM

D DIMM

Answer B
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Question | Which of the following statement is correct?
A 1 KB = 1024bytes

B 1 MB = 2048 bytes

C IMB = 1000 kilobytes

D 1 KB = 1000 bytes

Answer A

Id 26

Question | Types of software programs are:

A Application programs

B Replicate programs

C Logical programs

D Both A and B

Answer D

Id 27

Question | World's first cellular system was developed by
A Nippon Telephone and Telegraph (NTT)

B Bellcore and Motorola

C AT & T Bell Laboratories

D Qualcomm

Answer A

Id 28

Question | What is an activity in Android?

A Activity performs the actions on the screen
B Manage the Application content

C Screen Ul

D None of the above

Answer A
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Question | What is the application class in android?
A A class that can create only an object
B Anonymous class

C Java class

D Base class for all classes

Answer D

Id 30

Question | Who founded Facebook?

A Mark Zuckerberg

B Matt Mullenweg

C Bill Gates

D Steve Chen

Answer A

Id 31

Question | The following has highest Access time:
A Magnetic disk

B Swapping devices

C Floppy disk

D Cache

Answer A

Id 32

Question | A hardware device that is capable of executing a sequence of instruction is called
A CuU

B Processor

C CPU

D ALU

Answer B




Id 33

Question | A web page is

A Made up of text and HTML tags

B Marked by an opening HTML tag < HTML>
C Marked by a closing HTML tag </HTML>
D All of these

Answer D

Id 34

Question | E- mail address is made up of

A Single part

B Two parts

C Three parts

D Four parts

Answer B

Id 35

Question | The term “TRP” is associated with TV shows stands for
A Total Rating Points

B Time Rating Points

C Television Rating Point

D Thematic Rating Points

Answer C

Id 36

Question | What is “Synopsis” of a research project?

A It is the blue print of research

B It is consists of the plan of research

C It is the summary of the findings of the research
D None of the above

Answer

C




Id 37

Question may be the source of hypothesis.

A Expectation

B Chance — intuition

C Bothaand b

D None of these

Answer C

Id 38

Question is a way of carrying out social science research.
A Role playing

B Planning

C Sampling

D Case study

Answer A

Id 39

Question | Which type of questions are usually asked during interviews?
A Close-ended

B Open-ended

C Natural

D Difficult

Answer B

Id 40

Question | Which technique of sampling researcher is following?
A Cluster sampling

B Random sampling

C Stratified random sampling

D Systematic sampling

Answer

C




Id 41

Question |Research is

A Searching again and again

B Finding solution to any problem
C Working in a scientific way to search for truth of any problem
D None of the above

Answer C

Id 42

Question | Action research means

A A longitudinal research

B An applied research

C A research initiated to solve an immediate problem
D A research with socioeconomic objective

Answer C

Id 43

Question | The essential qualities of a researcher are
A Spirit of free enquiry

B Reliance on observation and evidence

C Systematization or theorizing of knowledge
D All the above

Answer C

Id 44

Question | A research paper is a brief report of research work based on
A Primary Data only

B Secondary Data only

C Both Primary and Secondary Data

D None of the above

Answer C




Id 45

Question is a process of information.
A Books

B CD - ROM

C Computers

D None of the above

Answer B

Id 46

Question | Questionnaire is a:

A Research method

B Measurement technique

C Tool for data collection

D Data analysis technique

Answer C

Id 47

Question | In the process of conducting research 'Formulation of Hypothesis” is followed by
A Statement of Objectives

B Analysis of Data

C Selection of Research Tools

D Collection of Data

Answer

C




ID 48 — 50

Question Type Comprehension

Main Text The proportion of male student and proportion of vegetarian in a school are
given below. The school has a total of 800 students, 80% of whom are in the
Secondary section and rest equally divided between Class 11 and 12
Class Male (M) Vegetarian (V)
Class 12 0.60
Class 11 0.55 0.50
Secondary Section 0.55
Total 0.475 0.53

ID 48

Question What is the percentage of vegetarian students in class 11?

A 40

B 45

C 50

D 55

Answer A

ID 49

Question What is the percentage of male students in Secondary section?

A 40

B 45

C 50

D 55

Answer B

ID 50

Question In class 12, 25% of the vegetarian are male. What is difference between
number female vegetarian and male non-vegetarian?

A 10

12




C 14
D 16
Answer D




